Name

. Enrichment Worksheei for 390 391

Imagine thoroughly shuffling each deck of cards and then
picking, a card. Give each probability in lowsst terms.

lll
BB
g B

' !

® D, G.Heathand Campany

&

g

o

b4

®

a

o

E"

@

=

P (not a factor of 8) —

P (not a multiple o, 7, =
/ 3
(g

(7) Probabliily 124

3. - R
a Pll)= 1O b. P(2) = —»{—o = 1
P3) = 7—33_ | d. P(4) = _JS'
P(notci)“:_%: % f, P(non)w__%
+ P{not 3) = g h P(not 2) =:é_.: 1
1o o~ §
Iy 3ok
p(i):_L‘?_' 2 b P)=_t2 4
PO =Fg ¢1.)f='(5)=7-c,’-z >
P(noM):J_/%:%— f.P(notS)w..% = [
P (prime number) = £ } h. P (composite number) = ___;(__ - _[
_Ld "—Z o /2 a
RO & L o= .
PO) =ty 6 b P(9) = L &"
.P(notnm_!%_ s d. P(not7) = .,_%_, /
PO =2, ) ] (. P(otd) =. 6. %
7> 9 ) 75/ 7.9_ )
: P(pnme numbe r)_:: _.TS./-_-‘, 3 h. P (composite numb.., = .<= = ik
. P(not a prime) _%Z: . P{notacomposite):%, P Z
P(multiple of 2) = T%"_z,—"?- I« P(multiple of 5) =-ii 8'; v
. P{(factor of 12) = .ll’.:yh‘t 3 . P (factor of 20) = il
5= 3 %Y




